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) Model A ) Model B
l f Provide python code to calculate sqrt(2) indefinitely Provide python code to calculate sqrt(2) indefinitely
°
the platform:
Sure, | can provide Python code that will continuously calculate and print the square root Calculating the square root of 2 indefinitely can be approached using various methods,
of 2. However, please note that this will create an infinite loop, which will need to be such as iterative algorithms or using libraries in Python. Below, | will provide a few different
stopped manually. Here's a simple example using the math module: approaches to compute the square root of 2 indefinitely, focusing on both a numerical

import math o method and an infinite precision approach.

import time
? Method 1: Using Newton's Method (Iteratively)
while True:
result = math.sqrt(2) Newton's method (also known as the Newton-Raphson method) is a powerful technique

< 1 1 print("The square root of 2 is:", result) for finding successively better approximations to the roots of a real-valued function. We
20 ReVlew - Wrong lnterpretatlon time.sleep(1) # This will print the result every second

can use this method to calculate the square root of 2.

2. Review — Correct, well organized

This code will print the square root of 2 every second until you stop the program. To stop

Here’s a Python code snippet that demonstrates this approach:

: while True: : def sqrt_newton(n, tolerance=le-10): (]
. result = math.sqrt(2) o # Starting guess
. . = 2.0
d print("The square root of 2 is:", result) . Iter;tion -0
E time.sleep(1) # This will print the result every second =
.--------------------------------------------------------------.--' . ' while True:
° iteration += 1
3. Click: B is better! 0 s b e i
= Ais better < Bis better W Tie F Both are bad

the results: ——
Bradley-Terry coefficients (logistic regression coefficients for win-prediction)
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